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CoT (Chain-of-Thought):
- HEERBEEZT AR - BRI ACLETESERR L

Accuracy reward:
« DeepSeek-R1: xR FEZDIERZTEERNET SFE

PRM (Process-Reward Model):
« HERBREDPBRTYIZEHE T OMEMET ILEAVTHER L
« Math-Shepherd: step-by-step PPODE A CIEZEE M £




step-by-step PPO

The word can be
broken down into
s,t,r,a,w, b, e, rr y.¥n¥n

So, the answer is 3.[e0s]

How many rin r appears at
strawberry?¥n¥n postions 3, 8, 9.¥n¥n
1 2 3
X y y y
1 1 3 3
Y1 Vel Y1 Y3
1 1 3 1.,2 ,,3
rt=1p(%y) re =1 (xy Y5, y°)
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FERT—2tvk:
« NuminaMath-CoT: #iF e L mBREZ SO KRRET—4
tybk ($986 A DT —4)

R—ZXETI:

o Im-jp-3-13b: REE-BARED/NNAJVHILETIL(AVRT4I3
IETE)

- Qwen2.5-Math-7B: = 4F L DFBRIFE FHETIL. EFE -4
FEED/NA)HILETIL (LLEEERF)




F;%(1): Supervised Fine-Tuning (SFT)

770—F:

* NuminaMath-CoTT—4t v ZF R \f=SFT%2epochZEj#
« BIEROR M- FEERIEEZ R ITA-OHEET—2DFEE
Im-jp-3-13BZ% il #&
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Fi%(2): 181t E (accuracy reward, GRPO)

77a—F:

» DeepSeek-R1 TR Tl Haccuracy reward (25D
REEERN) ICEOGREFEE
» Hugging Face®@open-r15475") &ERAL-Ei&
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* [Im-jp-3-13B + NuminaMath-CoT (SFTD#):
« FEF19%

ShEiEHELT-
e iIm-jp-3-13B + SFT + GRPO: / ETIL

« FEER19% B GEFEE CTI3%ITIET

e Qwen2.5-Math-7B-Instruct + GRPO :
e FZEB65%—>70% EFEHF
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 Qwen2.5-Math-7B-Instruct + GRPO (beta=0.04):
e IE&EG5%—70%~ EFEHFF

* Qwen2.5-Math-7B + GRPO (beta=0):
o EEHF12%>28%~LF%E. FERRIELO%IC




Z DD ELYHA A : step-by-step PPO
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« ZRHBATYTIZHLTEB D I®HENE 5 Z TPPOZEITSIFiE
EmU/-3£58:

« M/ VX T  FERGEXTHEIMIN G LHMRE

o PRMOBEEMNRILEEOREZESR
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Overview

Norkspace

B

Runs

&

Automat.

Y

Sweeps

E

Reports

S

Artifacts

Artifacts

g5 Registry -

» run-c7ehircqg-history
» run-6sbolxgb-history
» run-ivr8t6sq-history

» run-i6auu050-history

» run-1200783a-history

» run-ufn60590-completions
» run-ao3rqyp2-completions

¥ run-c7ehircq-completions

v387
v386
v385 latest
v384
v383
v382

_+_

run-c7ehircg-completions

Version

Metadata Usage

>root / completions.table.json

25

26

27

28

29

30

query

The parabola Sy = x*2+2$ and the hyperbola Sy”2 -
mx”2 = 1§ are tangent. Find Sm.$

The parabola Sy = x*2+2$ and the hyperbola Sy*2 -
mx”2 = 1§ are tangent. Find $m.$

The parabola Sy = x*2+2$ and the hyperbola $y"2 -
mx~2 = 1§ are tangent. Find Sm.$

The parabola Sy = x*2+2$ and the hyperbola Sy”2 -
mx~2 = 1§ are tangent. Find Sm.$

The parabola Sy = x22+2$ and the hyperbola $y”2 -
mx”2 = 1§ are tangent. Find Sm.$

The parabola Sy = x*2+2$ and the hyperbola Sy*2 -
mx~2 = 1§ are tangent. Find $m.$

= = — “

Files

Version0 ~

Lineage

Table k<

model response

For the parabola and hyperbola to be tangent, this
equation must have exactly one solution.

The quadratic formula is $x*2=\frac{-(3-
m)\pm\sqrt{(3-m)~2-4\cdotl\cdot3}}{2\cdot1}s.

Simplifying the discriminant, we get $x*2=\frac{m-
3\pm\sqrt{m"2-6m+9-12}}{2}S.

This can be further simplified to $x*2=\frac{m-
3\pm\sqrt{m”2-6m-3}}{2}S.

To find the value of \( m'\) for which the parabola \(
y =x"2+2\) and the hyperbola \( y*2 - mx*2=1})
are tangent, we

The vertex of the parabola is at $(0,2)$. We can

substitute this into the equation of the hyperbola
to find the value of SmS§.

25 -300f64 >

Exportas CSV Columns...

Add to report

score

1.242

0.9688

0.8359

0.707

1.313

0.2324

Reset table

\¢
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@ Artifacts run-c7ehircq-completions  version127 -~

Overview

B85 Registry -

Version Metadata Usage Files Lineage
Vorkspace ?
. >root / completions.table.json  Table d
Ruas » run-c7ehircg-history _
= query model response
@ » run-6sbolxgb-history The parabola $y = xA2+2$ and the hyperbola $y”2 - Let's substitute $u = x"2$ to get a quadratic
Automat. 25  mx"2=1S$ are tangent. Find Sm.$ equation in Su$:

» run-ivr8t6sqg-history

@ » run-i6auu050-history The parabola Sy = x22+2$ and the hyperbola $y”2 - The quadratic formula is $x"2 = \frac{-b \pm
Sweeps 26 mxA"2 = 1§ are tangent. Find $Sm.$ \sqrt{b”2-4ac}}{2a}s.
» run-1200783a-history
E] The parabola Sy = x*2+2$ and the hyperbola $y”2 - Simplifying this, we get $x"2=\frac{m-
Reports . 27 mx”2 =18 are tangent. Find $m.$ 3\pm\sqrt{m”2-6m+9-12}}{2}$.
» run-ufn60590-completions d
> -
5 » run-ao3rqyp2-completions The parabola $y = x*2+2$ and the hyperbola $y”2 - We can further simplify this to $x*2=\frac{m-
Artifacts 28 mx”2 = 1S are tangent. Find Sm.$ 3\pm\sqrt{m”2-6m-3}}{2}$.

¥ run-c7ehircq-completions

v387 The parabola Sy = x*2+2$ and the hyperbola $y*2 - [asy]
V386 29  mx”2=1S$ are tangent. Find $m.$

— [PAD][PAD][PAD][PAD][PAD][PAD][PAD][PAD][PAD]
v385 latest IR - B - B =D B R
v384 The parabola Sy = x*2+2$ and the hyperbola $y”2 - [asy]
V383 30  mx"2=1S$aretangent. Find Sm.$

[PAD][PAD][PAD][PAD][PAD][PAD][PAD][PAD][PAD]

359 ) S o o 5 i it i
+ = = — &« < 25  -300f64 > -

Exportas CSV Columns...

Add to report

score

1.5

0.7734

0.7539

0.7422

3.609

2.703

Reset table
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